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INTRODUCTION TO TRIGONOMETRY

1.In A ABC, right angled at B, AB = 24 cm ,BC = 7 cm.

Determine :- sinA, cosA.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LLdSSPp8tAXM

2.In A ABC, right angled at B, AB = 24 cm BC = 7 cm.

Determine :- sinC, cosC.

o Watch Video Solution

3.In fig., find tan P - cot R.

o Watch Video Solution



https://dl.doubtnut.com/l/_ryPePpRnoA3t
https://dl.doubtnut.com/l/_aOkqSXUBb1Tp
https://dl.doubtnut.com/l/_ECC7sYZaoynH

3
4.Ifsin A= 1 calculate cos A and tanA.

° Watch Video Solution

5. Given 15 cot A = 8, find sin A and sec A.

o Watch Video Solution

6. Given secf = T2 calculate all other trigonometric

ratios.

° Watch Video Solution



https://dl.doubtnut.com/l/_ECC7sYZaoynH
https://dl.doubtnut.com/l/_BTQgd70fQf35
https://dl.doubtnut.com/l/_UeoLHFHuMd6f

7.if /A and /B are acute angles such that cos A = cos B,

show that /A = /B.

o Watch Video Solution

1+ sinf)(1 — sinf
8.If cot 6 = Z,evaluate:- (1 + sinf)( sinf)
8 (14 cosf)(1 — cosb)

o Watch Video Solution

7
9.If cot § = g evaluate :- cot2 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_ofxQoeaVYEbe
https://dl.doubtnut.com/l/_IJtZmU4TA1dN
https://dl.doubtnut.com/l/_J8osOGH7rltR

10. If 3cotA=4, check whether 1-tan *2 A/ 1+tan *2 A =cos "2

A-sin *2 A or not

° Watch Video Solution

1
1. In triangle ABC, right angled at B, if tan A = 7 . Find the
3

value of :-sin A cos C + cos A sin C.

° Watch Video Solution

1
12. In triangle ABC, right angled at B, if tan A = — . Find

V3

the value of :- cos A cos C -sin Asin C.

° Watch Video Solution



https://dl.doubtnut.com/l/_VGmXoF5vl4PG
https://dl.doubtnut.com/l/_rbBwPiywNLfx
https://dl.doubtnut.com/l/_7roSgJgkwFyF
https://dl.doubtnut.com/l/_hjixrg6p2pZr

13.In A PQR,right angled at Q, PR + QR =25 cm and PQ =

5 cm. Determine the values of sin P, cos P and tan P.

° Watch Video Solution

14. State whether the following are true or false. Justify your

answer. :- The value of tan A is always less than 1.

° Watch Video Solution

15. State whether the following are true or false. Justify your

answer. :-sec A = = for some value of angle A.

° Watch Video Solution



https://dl.doubtnut.com/l/_hjixrg6p2pZr
https://dl.doubtnut.com/l/_UIDbKOECAAkI
https://dl.doubtnut.com/l/_YccWcxPoPkcE
https://dl.doubtnut.com/l/_x051AHvAwXhM

16. State whether the following are true or false. Justify your

answer. :- cos A is abbreviation used for cosecant of angle A.

° Watch Video Solution

17. State whether the following are true or false. Justify your

answer. :- cot A is product of cot and A.

° Watch Video Solution

18. State whether the following are true or false. Justify your

answer. :-sin = 3 for some angle 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_x051AHvAwXhM
https://dl.doubtnut.com/l/_kC08uXaJifpZ
https://dl.doubtnut.com/l/_nyaI1s48hny4

1. Evaluate The following : sin 60° cos 30° + sin 30° cos 60°

o Watch Video Solution

2. Evaluate The following : 2tan®45° + cos?30° — sin®60°

° Watch Video Solution

cos 45°
sec30° + cosec30°

3. Evaluate The following :

o Watch Video Solution



https://dl.doubtnut.com/l/_fp2vzDzsz4XJ
https://dl.doubtnut.com/l/_h9F86vGwAz5S
https://dl.doubtnut.com/l/_XnSeO8xPKXVb

sin30° + tan45° — cos ec60°

4. Evaluate The following : -
sec30° 4 cos 60° + cot 45

° Watch Video Solution

5. Evaluate The following

5cos260° + 4sec?30° — tanZ45°
sinZ 30° + cos230°

° Watch Video Solution

6. Choose the correct option and justify your choice.:-

2tan 30°
1+ tan230°

A.sin60°

B. cos 60°


https://dl.doubtnut.com/l/_0YWIhZu13PDh
https://dl.doubtnut.com/l/_oH2vqMxyojTV
https://dl.doubtnut.com/l/_mTvQgP6UKhFm

C.tan60°

D.sin 30°

Answer: A

° Watch Video Solution

1 — tan245°
7.
1 + tan?45°

A.tan90°

B.1

C.sin45°

D.O

Answer: D

[ ¢


https://dl.doubtnut.com/l/_mTvQgP6UKhFm
https://dl.doubtnut.com/l/_yAARFhAi103G

I o Watch Video Solution

8. Choose the correct option and justify your choice.:- sin 2A

=2 sin Ais true when A

A.0°

B.30°

C.45°

D.60°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yAARFhAi103G
https://dl.doubtnut.com/l/_IIaWEhmCoIF8

9. Choose the correct option and justify your choice.:-

2tan 30°
1 — tan230°

A. cos 60°

B.sin60°

C.tan60°

D. none of these

Answer: C

° Watch Video Solution

1
10. If tan(A+B)=,/3 and tan(A—B)=7 ,0°ZA+ B <90° ,
3

A>B, find Aand B .

& ]


https://dl.doubtnut.com/l/_D61TDpqGeHnu
https://dl.doubtnut.com/l/_tZL2I9XXJbWr

[ W Watch Video Solution ]

Exercise 8 2 True Or False

1.sin (A+ B) =sin A + sin B.

o Watch Video Solution

2. Stare whether the Following is true or false. Justify your

answer:- The value of sin @ increases as 6 increases.

° Watch Video Solution

3. Stare whether the Following is true or false. Justify your

answer:- The value of cos 6 increases as 0 increases.


https://dl.doubtnut.com/l/_tZL2I9XXJbWr
https://dl.doubtnut.com/l/_b82L8i0PnQ9z
https://dl.doubtnut.com/l/_4Ty7JJtol48p
https://dl.doubtnut.com/l/_4Rz1XJPTD9wk

° Watch Video Solution

4. Stare whether the Following is true or false. Justify your

answer:- sin@ = cos 0 for all values of 6.

o Watch Video Solution

5. State whetherthe following are true or false. Justify your

answer. :- cot A is not defined for A=0° .

° Watch Video Solution



https://dl.doubtnut.com/l/_4Rz1XJPTD9wk
https://dl.doubtnut.com/l/_mLzNy1ejiddp
https://dl.doubtnut.com/l/_vt4b6S3j9p8w

sin 18°

1. Evaluate : ———
cos 72

o Watch Video Solution

tan 26°

2. Evaluate : -
cot 64

o Watch Video Solution

3. Evaluate : cos 48° — sin42°

o Watch Video Solution

4. Evaluate : cosec31° — sech9°

o Watch Video Solution



https://dl.doubtnut.com/l/_DBb3rIrKbggX
https://dl.doubtnut.com/l/_phTtqfVLQq9N
https://dl.doubtnut.com/l/_JrLxCS8DhNDx
https://dl.doubtnut.com/l/_E8xR3xwG88oi

5.Show that : tan48°tan23°tan42°tan67° = 1

° Watch Video Solution

6. Show that

cos 38° — sinb2° =0

o Watch Video Solution

7. If tan2A = cot(A — 18°), where 2A is an acute angle,

find the value of A.

° Watch Video Solution



https://dl.doubtnut.com/l/_E8xR3xwG88oi
https://dl.doubtnut.com/l/_CXCy8HDfVGwf
https://dl.doubtnut.com/l/_ngrQnhZJUAuB
https://dl.doubtnut.com/l/_O9R59dYMJBQm
https://dl.doubtnut.com/l/_Gug7uIK7ml2E

8.If tan A=cot B, prove that A+ B=90° .

° Watch Video Solution

9.1f sec4A = cosec(A — 20°), where 4A is an acute angle,

find the value of A.

o Watch Video Solution

10. If A, B and C are interior angles of a triangle ABC, then
B + C’> A

5 — COS ?

show that sin(

o Watch Video Solution



https://dl.doubtnut.com/l/_Gug7uIK7ml2E
https://dl.doubtnut.com/l/_e3cFeFiQDEBv
https://dl.doubtnut.com/l/_Kxhd6PuPYfl0

11. Expresssin 67° + cos 75° in terms of Trigonometric

ratios of angles between 0° and 45°.

o Watch Video Solution

1. Express the trigonometric ratios sin A, sec A and tan A In

terms of cot A.

o Watch Video Solution

2. Write all the other trigonometric ratios of ZA in terms of

sec A.



https://dl.doubtnut.com/l/_dVkF0cHWayKs
https://dl.doubtnut.com/l/_yWVXYSDlcXGl
https://dl.doubtnut.com/l/_0wrODWE1fFpI

| o Watch Video Solution

sin® 63° + sin? 27°
cos217° + cos273°

3. Evaluate :-

° Watch Video Solution

4. Evaluate: sin25° cos 65° <+ cos 25°sin65°

o Watch Video Solution

5. Choose the coorect option. Justify choice :

9sec’ A — 9tan’ A =

A1l


https://dl.doubtnut.com/l/_0wrODWE1fFpI
https://dl.doubtnut.com/l/_8Zjd1oincwBt
https://dl.doubtnut.com/l/_vzLh4gXhJuV6
https://dl.doubtnut.com/l/_O6k8vwYs1ePH

B.9

C.8

D.7

Answer: B

° Watch Video Solution

6. Choose the coorect option. Justify choice :
(14 tan6 + sec)(1 + cot @ — cos ech) =
A.O
B.1
C.2

D. none of these


https://dl.doubtnut.com/l/_O6k8vwYs1ePH
https://dl.doubtnut.com/l/_HwsYnO3GcF4W

Answer: C

o Watch Video Solution

7. Choose the correct option. Justify your choice : (sec A +

tan A) (1-sin A) =? a.sec Ab.sin Ac. cosec Ad. cos A

A.sec A

B.sin A

C.cosec A

D.cos A

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HwsYnO3GcF4W
https://dl.doubtnut.com/l/_rt7bvTkvpdXi

8. Choose the correct option. Justify your choice

1+tanZ A

a.sec Ab.-1c.cot>? Ad.tan> 4
1+ cot? A

A.sec’ A

B.—1

C.cot’ A

D. none of these

Answer: D

° Watch Video Solution

9. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :


https://dl.doubtnut.com/l/_8lV1FLwyvxBL
https://dl.doubtnut.com/l/_gRM78pnxwy5p

1 — cosf

(cos ec — cot 0)° = T o5t

° Watch Video Solution

10. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

cos A 1+sind
N in

- = 2secA .
1+ sind cos A

° Watch Video Solution

11. Prove the following identity :

tan@ cot 6

— 1+ sec cos ecf.
1— coté + 1 — tané +sechcosec

° Watch Video Solution



https://dl.doubtnut.com/l/_gRM78pnxwy5p
https://dl.doubtnut.com/l/_24zb3ugI0RoV
https://dl.doubtnut.com/l/_aI0VbwYnWuUC

12. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

1+ secA B sin® A
secA  1—cosA’

o Watch Video Solution

13. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :
cosA —sinAd +1

cosA +sind —1

coses’A = 1 + cot? A)

= cosecA + cot A, using the identity

° Watch Video Solution



https://dl.doubtnut.com/l/_xc2Hs7xmEGLO
https://dl.doubtnut.com/l/_3kiuGjyoZ034

14. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

/14 sinA
m — SeCA + tanA .

o Watch Video Solution

15. Prove that the following identities, where the angles

involved are acute angles for which the expressions are

defined :

sinf — 2sin® @

= tan@
2cos3 0 — cos

o Watch Video Solution



https://dl.doubtnut.com/l/_WxDHnyYGkUGi
https://dl.doubtnut.com/l/_xtzfmcC12iK4

16. Prove the following identities, where the angles involved
are acute angles for which the expressions are defined. :

(sin A + cosecA)® 4 (cos A + sec A)® = 7+ tan® A + cot® A

o Watch Video Solution

17. Prove the following identities, where the angles involved
are acute angles for which the expressions are defined.

1
(cosecA — sin A)(sec A — cos A) = A T oot A [Hint

:Simplify LHS and RHS separately]

° Watch Video Solution



https://dl.doubtnut.com/l/_ItJOWeqfpM9R
https://dl.doubtnut.com/l/_dV06opRh7Dx0

18. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

9 . 2
<1+tan A):<1 tanA) tan? A
1+cot?A 1—cotA

o Watch Video Solution



https://dl.doubtnut.com/l/_wc7hZqiRfLMx

